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QUESTION 1

Given the Type node shown below, what specifications are necessary to change all values outside the range Ito 15 in
field dropped calls to the undefined ($null$) value? 

A. Pass Values and Check action Nullify 

B. Specify Values Lower 1 and Upper 15 and Check action Nullify 

C. Specify Values Lower 1 and Upper 15 and Check action Discard 

D. Read Values and Check action Warn 

Correct Answer: B 

 

QUESTION 2

Auto checking for invalid values can be done on the Type tab in any Source node. 

A. True 

B. False 

Correct Answer: A 
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QUESTION 3

Given the information below, which node would be used to produce the correlation statistic between the fields off
peak_calls and weekend_calls? 

A. Matrix node 

B. Statistics node 

C. Histogram node 

D. Means node 

Correct Answer: B 

 

QUESTION 4

The optimal binning method in the Binning node uses a Supervisor field to determine the binning cut points. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 5

What new value will be assigned to the original value Low given the specifications in the Reclassify node below? 
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A. -1 

B. 2 

C. 3 

D. 4 

Correct Answer: B 

Latest C2090-012 Dumps C2090-012 Practice Test C2090-012 Study Guide

Powered by TCPDF (www.tcpdf.org)

Latest C2090-012 Dumps | C2090-012 Practice Test | C2090-012 Study Guide                                4 / 4

https://www.pass4itsure.com/c2090-012.html
https://www.pass4itsure.com/c2090-012.html
https://www.pass4itsure.com/c2090-012.html
http://www.tcpdf.org
https://www.pass4itsure.com/c2090-012.html
https://www.pass4itsure.com/c2090-012.html
https://www.pass4itsure.com/c2090-012.html

